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WA 63.5 ERE 63.5 1,620 1,296 1,188 0] A
IZACA 26.4 ERE 18.6 - 1,080 - 10 A 3L
IZALCA R 1.9 - 3,240 - 10 vay M
ZIES5 5.8 BERE 0.3 2,160 1,728 1,728 2l A LL
ZIES5 5 0.4 - 2,376 - 4 A 2
f-lITDC 0.5 ElG 0.4 2,160 1,728 1,296 4 A LL
[E<E0LY 46.7 ERE 12.1 - 1,080 - 15[ A 6
[F<E0Y £ & 33.8 — 1,080 - 15 A 6
HTE 25 2 1.7 1,836 1,080 1,080 4 A L
ZEDOH 6.9 BERE 3.9 2,376 1,080 972 4f A M
Fry 71.4 BRE 73.4 1,188 — 972 10 8
IE5SNAZES 3.9 2 [ 1.8 1,728 1,404 1,404 46 A LL
hE 18.1 BRE 9.4 1,188 864 864 3l A LL
h= E 15 0.5 1,188 — 1,080 3 vay L
_hE 1.8 = B 1.3 3,240 1,944 1,944 3 M
SE 0.1 BRE 0.1 — 1,080 — A M
125 2.6 =0 1.8 3,780 2,700 2,700 5] vay
+)L)— 0.5 2 [ 0.4 3,240 — 3,024 0] A LL
FRINGHR 1.6 = B 0.4 205 — 194 0.1 L
Hh)o257— 0.4 B X 0.4 1,188 918 918 6] A 6
JOyal)— 15.9 BRE 7.9 — 729 — 4f A M
LAR 59.0 BRE 3.1 140 108 108 0.1
LAR E 15 46.1 1,080 648 486 0] A 12
FoTHA 1.6 BRE 0.9 2,700 1,080 972 4f A L
=p5Y 18.6 ERE 14.1 1,901 1,080 972 5] A L
=p5Y ElG 4.4 1,350 - 1,296 5] A L
ANESSED) 10.6 =P 10.3 2,700 1,944 1,944 10 vay 7
Y 3.0 BRE 0.1 — 3,240 — gl B L
B B K 28 2,160 - 1,836 5 L
<k 14.6 BRE 10.5 1,620 1,404 1,296 4f A M
k< BE X 3.6 119 86 76 0.5 7
I=kTh 9.4 BRE 8.5 140 86 81 02 A M
==kThk S 0.6 2,160 1,944 1,944 3l vay PED)
F—<> 12.9 BERE 12.6 6,480 4,320 4,320 10 A LM
T35 0.1 BRE - 324 — 0.3
IZH5Y 0.1 BRE 2,700 - 2484 3l A L
SPVAITFA 0.6 BRE 0.6 3,564 2,268 2,160 2l A M
SPZAES 1.2 BRE 1.2 1,080 432 432 1 A
E—X 0.2 BRE 0.2 1,296 1,296 1,080 1
ToEDH 0.4
MrAL& 6.0 E X 4.7 2,052 1,836 1,620 5 L
[Ehi L 42.7 BRE 414 2,160 - 1,944 0] A 3L
=L 0.4 BRE 0.4 864 540 540 5
AL 0.4 JtiEE 0.1 4,752 - 4320 0] A 3L
f=Fh&E 90.5 BRE 11.2 2,052 1,620 1,296 0] A L
f=FEh&E JeiEE 78.4 3,456 2,808 2,808 20 L4'4
IZAIZK 0.6 ol 0.6 — 4536 — 10 4L
5oELD 0.4 BRE 0.4 4,860 - 4,320 0] A M
EBLEINA 1.0 zallES| 0.4 2,376 — 2,268 4
HELLV=IT 2.0 ElG 1.2 86 86 76 0.1 A M
ZDEET 43 K B 1.8 76 65 65 02| A
ZDEET =l 1.0 59 32 30 0.1 A
LHL 1.8 2 [ 1.6 86 76 76 02 A M
S ER T 560.8
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[Fox< 0.7 BRE - - - PR
e B X 0.4 - 2,160 - 10[ 74v1 L
LEY 3.4 TA)H 3.4 8,640 7,776 7,776 17 115
INLUYVT 5.1 TA)H 5.1 7,560 5,940 5616 17 88
L7y =] — 6,480 — 15 35
BR 1.9 EIR - - - PR
BR = B 0.8 — 1,944 — 10 vay 4L
HEE 1.0 =0 0.9 5,400 — 4,860 10 vay M
Lo 3.4 BRE 1.0 2,700 — 1,944 5/ A LL
Lo B K 1.5 2,700 2,700 2,376 5| 7hv1 20
HmoHhrAED 25 B X 0.7 2,160 — 1,512 10 S
=ADA 0.7 BRE 0.7 — 5,940 — 10 M
YATE 8.6
3+TI)LK 0.9 5 # 0.9 - 3,888 — 10[ 7h¥a 28
AL 6.9 5 & 6.9 7,020 7,020 6,264 10[ MA 40
% 0.7 "5 & 0.7 4687 — 4,666 12 A
Uh
W5 8.0 BRE 4.9 356 302 270 025 A LL
AOVEF 1.9
7—IJLR 0.7 = I 0.1 9,720 — 6,480 gl A 6
ZRAOY 1.2 K B 0.8 3,024 3,024 2,808 5| 7hva 7
ERRYOY1s 0.8
ERAY 0.5 HE 0.5 6,480 — 6,264 12 L
INFF 13.7 EYEY 13.5 5,940 3,791 3,370 15
NAFyFTIL 5.9 EYEY 5.5 3,240 2,700 2,700 10 8
FoA4T)LY 1.4 = [ 0.5 3,456 3,456 3,132 3.6 30
RERET 59.7




